
M12 Outer screw round plastic dust cover

Waterproof O-ring 12× 9×1.5

PA66

black

Plastic dust cover chain strap

NBR

PU

black

blackSize A: 3 (Square seat son)
11.5 (Lock plate screw for M12X1 seat son)
13 (board front seat and lock board screw

thread M16X1.5 and PG9)
15 (rearboard seat and lock board screw M16X1.5

and PG9 threads)

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
TITLE

AutoCAD SHX Text
D

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
DWN

AutoCAD SHX Text
CHK

AutoCAD SHX Text
APVD

AutoCAD SHX Text
THIRD ANGLE

AutoCAD SHX Text
REV    

AutoCAD SHX Text
SHEET 

AutoCAD SHX Text
PART NO 

AutoCAD SHX Text
DRAWING NO

AutoCAD SHX Text
GENERAL TOLERANCE

AutoCAD SHX Text
(UNLESS SPECIFIED)

AutoCAD SHX Text
SIZE 

AutoCAD SHX Text
UNIT    

AutoCAD SHX Text
MM    

AutoCAD SHX Text
A

AutoCAD SHX Text
A4   

AutoCAD SHX Text
1 OF 1   

AutoCAD SHX Text
ISO 2768-m

AutoCAD SHX Text
M12P-V1-S-xx

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
No.

AutoCAD SHX Text
Unit

AutoCAD SHX Text
Q'ty

AutoCAD SHX Text
pc

AutoCAD SHX Text
pc

AutoCAD SHX Text
pc

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
Material

AutoCAD SHX Text
Treat

AutoCAD SHX Text
Specification

AutoCAD SHX Text
 12× 9×1.5 9×1.5

AutoCAD SHX Text
 3 (Square seat son)        11.5 (Lock plate screw for M12X1 seat son)        13 (board front seat and lock board screw        15 (rearboard seat and lock board screw M16X1.5 


	图纸和视图
	模型


